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G- An Infro To VECTORS
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Y
(xy) Vector: magnitude & direction
(Lengtn)
| | .
'y EX V@LO&:TZL.--

> component form: < x,y>
where X 1S +he honzontar Component &
Y IS the vermcai component

magm’rud@'- vl = Length of a vector
(l\/l = \l X=+ 32g (from pythag-

+heorem)
Find component Forni, magnitude & direcnon angle
(DA o tead minmg Tail (HMT)  1v]=.[52+(-7)?

(2,3)

v =J74]
N =
('?,al'i [Z 5) _7> / o :I +ah6:_l
/ x 5 3
(5,-7) [g?—%f?éf
or 305.5%
DRS: R (4,3) & S (-1.6)
component form. magnitude :
e i ) (ise 1-H\/ll>) ]Jl\/ll::f_“ti)?ﬁ—@
e - TwR(4,3) -] - - VENED
\<~5!3>i L
\ direcTion angLe:

(-5.3) tane = 3
\ -5
3, 6=-30.96
B [6=149. 04
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Equivalent \ECTORS

(-2,6)
\j 1+2,2-6>
L 3. —-47
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\ L1+2,2-6>
N £ 3,-4>

(i) ¥ equivalent vectors

have the SAME
—— <3,-4> direchon & maghithude

(3,~4)

Adding, Subtracting & ScaraR multipLicCarion
u=< 2,-4> & V=4£3,-57~

O u+Vv @ V- u 3 2u- 4V
<2,-4>+43,-5> £3,-5> —<2,-4> 222,-4>-44£3,-5>
£2+3,=4+-5> £ 3-2,-5+4> <4,-9>-<|2,-20>

[£5,-9>) (< 1, —1>1 4412 ,-98+20>
[ -8, 12>

?ié_éﬁk_,_\/i"@ a VeECTOR- - Fmdiy@ the COMPONENES of a \ecror
O vi=12 & ©=40°

wqm mmmwmﬂqw
COS40° = X _ sindo” = Y
|12 12
X=9.19 Y= 7.7]

[<419,7.71> !

Dlv[=6 & =[5

CoSbh = X SINGS" = Y,
2 6 <-25%,54%>

X=-2.54 =544
quad 2
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